
Name:  ______________________________________

Rounding to The Nearest Tenth and Hundredth

1. Peter traveled 15.789 kilometers in his car.
Round this number to the nearest hundredth
of a kilometer. _______________

2. If you find the number 6.26 on a number line,
it would be located between...

a.   6.05 and 6.07 b.   6.02 and 6.03
c.   6.26 and 6.27 d.   6.2 and 6.3

3. Jimena used her calculator to divide 2 by 13.
The calculator screen shows the number: 0.1538461.
Round Jimena's answer to the nearest tenth.     _______________

4. The number pi is approximately equal to 3.14159265359.

Round pi to the nearest hundredth.       _______________ 

Round pi to the nearest tenth.       _______________ 

Round pi to the nearest whole number.    _______________ 

5. Write the number two-thirds as a decimal rounded
to the nearest tenth.    _______________

6. Write the number seven and one-third as a decimal
rounded to the nearest hundredth.    _______________

7. A stack of 7 nickels is 13.65 mm high. What is the
height of the stack to the nearest tenth of a millimeter?    ________________
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ANSWER KEY

Rounding to The Nearest Tenth and Hundredth

1. Peter traveled 15.789 kilometers in his car.
Round this number to the nearest hundredth
of a kilometer. 15.79 km

2. If you find the number 6.26 on a number line,
it would be located between...

a.   6.05 and 6.07 b.   6.02 and 6.03
c.   6.26 and 6.27 d.   6.2 and 6.3

3. Jimena used her calculator to divide 2 by 13.
The calculator screen shows the number: 0.1538461.
Round Jimena's answer to the nearest tenth.     0.2

4. The number pi is approximately equal to 3.14159265359.

Round pi to the nearest hundredth.       3.14 

Round pi to the nearest tenth.       3.1 

Round pi to the nearest whole number.    3 

5. Write the number two-thirds as a decimal rounded
to the nearest tenth.    0.7

6. Write the number seven and one-third as a decimal
rounded to the nearest hundredth.    7.33

7. A stack of 7 nickels is 13.65 mm high. What is the
height of the stack to the nearest tenth of a millimeter?    13.7 mm
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